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Ol A Xl (kcal) | 749.99 | 749.99 -2.9 746.6 691.9 834.2 627.1 739.9
Et=3t=(g) 53.7 99.3 88.0 115.0 108.5 83.4
S A (g) 19.14 19.14 17.1 23.5 28.6 471 2r.7 29.9
X (g) 29.2 29.1 21.9 23.6 12.3 32.5
HIEFRIA(R.E) | 167.94 | 233.12 234.1 124.2 332.4 411.2 64.0 238.7
Elotel(mg) | 0.30 0.37 0.5 0.2 0.6 0.7 0.3 0.6
2Zepl
El( et 0.36 0.45 0.5 0.5 0.6 0.6 0.5 0.5
mg)
HIEteIC(mg) | 23.50 30.21 14.5 19.6 18.1 14.7 7.0 12.9
2 &(ng) 254.44 | 312.21 254.6 275.4 234.4 261.2 265.3 236.7
& (mg) 3.83 5.00 5.1 3.5 8.2 4.2 4.6 4.8
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